## Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

1. The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project vith an Approved Budget for the Contract (ABC) of

Quotation received in excess of the ABC shall be automatically rejected at the opening

1.	5	units	AVR	50000	2,50000
			High performance secure		
			automatic voltage regulator		
			secure 220V computer		
2	2	Units	External Hard Drive	12,00000	24,00000
			<b>6IB</b>		
			USB30		
			Maxdata transfer: 160MB/s		
3	<b>30</b>	Units	Muse	42500	12,75000
			Optical		
		_	Wireless		
4	6	Units	UPS	2,90000	17,40000
			600w/1000 <b>0V</b> A		
			Unintenuptible powersupply		
			Autorestart col-start capability		
5	1	box	CAT6UIP Cable	4,20000	4,20000
			<b>300m</b>		
			Inerconductor 0575mm		
			Conductorsize 23AWG		
		_	Stranding or solid bare copper		
6	10	Units	Themal Paste	20000	20000
			Gereal pupose tremal		
			gease - suitable for LED,		
			CPU & LED applications		
			Thermal conductivity: 32		
			WMk		

7. 3ni 00 Units Giga Load Balance Router

1 fixed 10/100/1000mbps WAN port

3 fiee changeable

10/100/1000mpbs WAN/IAN

ports

1 fixed 10/100/1000mbps

LANDMZ port

			Professional baffle powered speaker 450 vatts Music, mic, volume 3 microphore input Digital echodekry FMtuner Built in Bluetooth USB/SD port 51 channel Built-in 4' fan		
16	3	Units	CAT6 intor UIP cable 300m Intelligent cat6e UIP cable outdoor 305M 4 pair UIP cable Double coated Unshielded cable 8 conductors Awg 23 Conductor material: bare copper	3,50000	10,50000
177	4	Units	RJ45  Heavy duty Plug cable type round cable, solid/stranded wires  Unshielded Cat6  Termination IDC, clear, gold Contact firish thickness: 5Q.in(1.27µm)	1,50000	60000
18	20	Units	3DPrinterFilament 1 leg Filament diameter: 1.75mm Melting temperature: 145 160 C Heat distortion temperature: HDFB (0.45MPa): 56 C Compatible with any printer that uses 1.75mm filament	300000	60,000,000
19	12	Urits	Wireless dual hand gigabit ceiling mount access point Simultaneous 450 rhps on 24Ghz and 1300 rhps on 5Ghz totals 1750 rhps wifi speed Supports seamless roaming Cloud centralized management and omada app for utra convenience and easy management Support power over Ethernet Secure guest network Band steering automatically moves dual band devices onto the wider 5ghz band for faster corrections	5,30000	63,60000

20	4	Units	Heavy Duty Wire Stripper	60000	2,40000
			Multi-purpose wire stripper and		
			cutter for 10 20 AWG sollid		
			wire and 1222 AWG stranded		
			vire klein tools		
			Sheartype cutting for dean		
			cuts		
			Senatednose jaws to bend,		
			shape crpull wite		
			Holes for looping wire ends		
			Spring loaded for self-opening		
			action		

21. 2 Units Rotary Tool Set

Rated voltage: 220/240V Rated frequency: 60 fz Rated input power: 170w Collet size: 1.6mm No load speed: 8,000 35,000 pm

Madine weight 06kg

}

Į

	Input 100-240vAC	

- 2 Delivery Period \_\_\_\_ calendar days from the receipt of P.O.
- 3 Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Biddens shall also indicate the brand and model of the items being offered.
- 4. Wanarty shall be for a period of six (6) months for supplies and materials. Wanarty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Wanarty Certificate.
- 5 The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below of 5 T2 ° 2dw and ma

fri